= >
N = 0 &8 AH Y H N AN
20188 = =4 2 5 detgH 2AHEH
SN 2
A X0 OIS NUIA NS (W)

ool 5B 2HM 29 (el @e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
EHANH 1,217,979 1,213,829 4,150
=0l OFE MU A H2(2AY) 305,122 300,972 4,150

S8H0 A4 29 305, 122 300,972 4,150
sy2Y L 22(EHH) 87,945 87,795 150

201 Yty 40,786 40,636 150
02 2229 22,986 22,836 150
Ogss=2xNNS NHESIHA 150,000 * 1CH 150 0 150
22ANAE L FHH K22 (REH) 108,825 104,825 4,000
201 LBt 80,774 76,774 4,000
02 222 77,460 73,460 4,000
OXtet e Xl 18,000 14,000 4,000
-UEEEXRY 4,000,0008 * 1CH 4,000 0 4,000
ZOIHOZA XA (ELH) 710,000 710,000 0
REY= NYNL(BAH) 710,000 710,000 0
ARE TO=AAA (HAHH) 680,000 680,000 0
401 AlEHI L= 680,000 680,000 0
01 Al&HI 677,000 677,000 0
s HH=Z EHI 2 AH(115m)
23X 20,500,000 20,500 24,000 A3,500
OZg D=2 ™8I Z2AH(15m)
2 21,000,000 21,000 30,000 A9,000
QAA =2 EZEZAH(150m) B 24,560,000 24,560 22,000 2,560
O& A T2 FHIZAH(115m) Z A 30,330,0002 30,330 27,000 3,330
Ot SESsZ2ZHZ2AH130m)
A 24,750,000 24,750 20,000 4,750
OXl= MEHE2=ZAH60m) ZHE 22,000,000 22,000 20,000 2,000
OZL=2 2T HIZAHI00m) ZAE 25,100,000 25,100 18,000 7,100
O8= 0lA2I M 2T 2 AH400m)
2= 23,000,000 23,000 21,000 2,000
OUI% OFAZAMN 2|2 AFH520m)
2= 18,000,000 18,000 26,000 28,000
OEE DtsctZ ™I 2 AH(110m)
2= 13,000,000 13,000 22,000 29,000
OstS AHE 2D AH(1AL) A 7,000,000 7,000 15,000 A8,000
O&S W42 FHI 2 AH(80m) ZE 8,000,000 8,000 10,000 22,000
OAIE OlAZ M2 Z2AHB00M )
A= 12,000,000 12,000 17,000 25,000
OSEE NS32EETA(14) 15,000 0 15,000
OEE 0t=e+2 ™41 (150m) 348 0& 0 25,000 A 25,000
OEHZATZHIHZAH(14) 14,828 0 14,828
OBS MAEAHB2(6m) AF o” 0 6,000 26,000
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